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Sg —6.000 Sof | +3.500 Ry -+1.768 Oy | —3.500 —2.500
Sy —7.500 S’ 5.000 ’ R +1.051 0; . —2.500 —1.500
S, —8.000 Sy +7.500 | R, +0.354 0, —1.500 —0.500
\ 0; —1.000 0.000
=030 ARy =18.40 AR i=2.94R - — -
I
S —35.660 Sy’ 0.000 R, +2.645 0, —4.000 —5.500
S, —6.273 Sy’ +3.650 Rs +1.890 0, —3.500 —2.500
S —7.841 Sa’ +6.273 Ry +1.154 O, —2.500 —1.500
S, —8.354 Sy +7.88 R, +0.378 0, —1.500 —0.500
; Os —1.000 0.000
a=2,40 AR; ==19.20.8AR; k=22 AR —
S, —3.818 Sy’ 0.000 Ry +2.814 0, —4.000 —-3.500
S —6.545 S’ +3.818 R, +2.010 0, —3.500 ~—2.500
S —8.182 S’ +6.545 Ry +1.206 0, —2.500 —1.7500
S, —8.777 Sy +8.18> = R, +0.402 0, —1.500 —0.500
\ 0, —1.000 0,090
a=2.50 AR; =2.004R; Ai=2.24R
g
S, —3.977 S 0.000 \ Ry +5.38¢ | O, —4.000 —%.800
S2 —6.818 Sy’ +35.977 | R: +2.1%4 0. —3.500 —2.500
v S, —8.5% S’ +6.818 R +1.250 03 —2.500 —1.500
[ S. —9.091 S, +8.673 R, +0.427 0, —1.500 —0.500
. O5 —1.000 0.000
L
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ISEEH 20,00 2 30,00 AREYEEHTR

L S

, | ,
| ] ' i1 ' " 1 12
) [ 1 1 ! 1 |
/2 I : | ' ! | | i
RN RN ! { { ]
’ o »
l 0N 10,8 10,8 NE NS
1 S, S, Sy NS s
‘1 ' 1 1 1 1 1 1 1 )

B # | T "
# B . WRAERR
* 3 T 3% FEERR LaE% 3 -
THE)
e=2 0 AR; 1=20.0AR; I=2.22R
S, — 4,091 S5y 0.000 R, +2.753 0, —5.000 —~4,500
S2 - 7.973 Sy’ + 4.091 Ry +2.141 0- —4.500 —3.500
Se — 9.545 Sy’ + 7.278 Ry +1.530 0 —3.500 —2.500
S, —10.909 Sy 4+ 9.545 R, +0.917 0, —2.500 —1.500
Ss —11.364 S5’ 4-10.909 R; +0.306 0; —1.500 —0.500
| O; —1.000 0.000
a=2 1 /AR; 1=21.0AR; i=2.22R
S, — 4,295 S, 0.000 Ry +2.954 0, —56.000 —4.500
Sa — 7.636 Sa’ + 4.295 R +2.305 0. —4.500 —5.500
S —10.023 Ss’ -+ 7.636 Ry +1.646 Oy —3.500 —2.500
S, —11.455 Sy +10.025 R, +0.988 0, —2.500 —1.500
Ss | —11.,952 Sy +11.485 Ry +0.329 05 —1.600 —0.500
j 04 —1.000 0.000
-
Ba, h R 20T
=2.2 AR; I=22.04R; I=22/AR a=2.7 AR; 1=207.0 AR; k=27AR
a=2.5 AR; =2B.0AR; I=213AR a=28 AR; =280 AR; r=28AR
=2.4 HR; I=24.0AR; I=2.42R a=2.9 AR; 1=29.0 AR; =294AR
a=2.6 AR; =250 AR; h=20.5/RR =3.0 AR; [=30.0 AR; =35.04R
a=2.6 BHR; I=26.0 AR; h=2.6 R
PO AERE:
S, — 4.500 Sy’ 0.000 Ry +3.182 0, —5.000 —4.500
Sz — 8.000 Sy’ + 4.500 R, +2.475 O, —4,500 —~3.500
Sa —10.500 Sy’ + 8.000 Rs +1.768 0, ~3.500. —2.500
Ss —12,000 S +10.500 R, +1.061 0, —1.500
Ss —12.500 Sy’ +12.000 Ry +0.354 Oy 4 —0.500
O, = 0.000




